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1.

Attempt any five parts (explain using diagrams where

appropriate) :

Sx3=15

Wﬁw&.ﬂﬁ%ﬂ%@ﬁ@%@@ﬂ%@ﬂﬁ@ﬂﬂﬁ ) :

(1)

(i)

(i)

(iv)

A monopolist’ i
polist’s marginal revenue is always less

than the price of its go
od.
false and explain. good. State whether true or

gﬁﬂw%ﬁgﬂwﬂmﬂ%wﬂ@ﬂnﬁ%w_
ﬂﬁﬁﬁﬁﬁﬁoﬂﬂwﬂﬂ%@dv

Do you agree with the following statement ? Explain
%o.%.w reason “A binding price floor and binding price
celling are both lower than the equilibrium price”

) T A ey i oy AT o= .

%ww_ﬁﬁmﬁimn,ﬂﬁﬂ_. 5

Is it possible for marginal product of labour (MP ) to
L

decline when the avera
declir ge product of ] .
1S rising ? Why or why not ? e i

Markets are usua
lly a good wa to o i
: S Y r
€conomics activity. Explain. e

% ,
SU B | @rer 5y : = o
Why does Marginal Cost (MC) curve always intersect

m.ﬂ HHHHHHHH.HHE.HHH ﬁOMHHH OH mc@ummm rmHHm\“Hm ”muwW ?" ”v

2.
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(vi) Why cannot two indifference curves intersect each

other ?

(i)

(i)

(a)

& T TH TH GEL B A T P qH ?

How do interest rates affect household savings ?
Explain with suitable diagram. 8
1T &t & BT THIR Jeedl a1 & S arell F9d
OIS BT 2 | ‘
Evaluate the following two statements. Do you agree ?
Why or why not ? ; 7
Fr=faRaa &9 HUH T qIHT BT | 7 M9 39
ﬂﬁ@ﬁﬁmwmﬂ&aﬂaﬁwﬂﬁw :
(a) “A tax that has no dead Sowmg, loss cannot raise
any revenue for the government.”
TLHR B HE AT IT<d TE B TR |
(b) “A tax that raises no revenue for the government
cannot have any deadweight loss.”
TF Y, DTS HOT IR S B T 9T 781
BIell, I HETHIX B faerega 78t 3l 31

Two drivers — Mohan and Sudhir each drive up to a
gas station. Before looking at the price each places
an order. Mohan says, “I would like 10 liters of gas”.
Sudhir says, “I would like ¥ 500 worth of gas”. What
is each driver’s price elasticity of demand ?

4
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{c)

4. (i)

& = T N T O oI ¥ 1 AW W g A |
Tet HreT weer © @ 10 Wie Ty & R G s
2 5 @ 500 X & g M | I TIH B AT B A
wT e ? : _
How do elasticity of demand and mdvv@ distribute the
burden of taxation between buyers and sellers ?
Explain with the help of diagram. L 5

AT X gl S BRE HeRIT T AR B A T sk
& dra H omfed w31 R A HerEn A wEEEY |

Explain why the mo=9$5m might be Qﬁm :

A drought around the world rises the total revenue

of the farmers receive from the sale of grain, but a
drought only in Haryana reduces the total revenue
- that Haryana’s farmers receive. 6

ﬁnﬁﬁwﬂﬂﬁﬁﬁwﬁﬂw”
A H g 9o 9 9 ReEel ) B o g i

3, STefs Fae ST & TEr gew o) s & e

N FH A g SA B

Why did the OPEC member succeed in increasing
the price of oil for a short period but could not
maintain it for a long period ? o

OPEC % qa STeohidl & [ & a1 i ot agm §
g | ? : :

S.
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The price of burger rises from % 30 to ¥ 50 per
burger while the price of Pepsi remains < 15 per
glass. For a consumer with a constant income

< 3,000, show what happens to the consumption of
Pepsi and burger. Decompose the change into

" income and substitution effect. . 8

(1)

(iii)

7% = 7w 30 3 @ Tt 50 < & o & S I
7o 15 T gfy e ) & Rex @ 81 SR,
R emg 3,000 X B, SudERT B AN AR R &
ITHERT O 36 Go9 GREdS B R I IS 2 ) e
gfE Bl oI T SRR S § e B0 :

Why is the average cost o.E.«m U shaped ? Explain
using a diagram. 4
e Y SArET R a9 U ST 1 R S ¥ 2 R
& T AT FR | ;

Does a competitive firm’s price equal the minimum
of average total cost in the short run, in the long
run or both ? Explain using a diagram. g
7 T ORI B g ekl § =ge i
AT B WA BN ? T g W A § e A
ST A1 i A § 7 R & ey e |
Under what conditions will a firm shut down
temporarily ? Explain using a diagram. 3
Ry e & o op wOg & [ SR ¥ AT ?
o & @re =T HY | ,

5 P T.O.
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6. (i)

Ummﬁo natural monopoly. What does the size of a
market to do with whether an industry is a natural
monopoly ? 6
MR THAHR § ST F THSA T 7 MR
THIAHR B ISTH I K H STHR h THR T
BT 8 ?

Amit has just finished recording his latest CD. His
record company’s marketing department determines
that the demand for the CD is as follows : 9

A T o 72 A R HEE 21 R Heh B
SR TS 1 AT AT TE TR T

Price in rupee number of CDs
24 10,000
22 20,000
20 30,000
18 , 40,000
16 | 50,000
14 , 60,000

The company can produce the CD with no fixed cost
and a variable cost of X 5 per CD.

BEr T 5 ReR AT 9 B 1 aReHeie @ 5 %

aRr zhE B

(i) Find total revenue for quantity equal to
10,000, 20,000 and so on .What is the

marginal revenue for each 10,000 increase
~ in the quantity sold ? v

6

(1)
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T ST N T B | R |79 10,000, 20,000
SR 37T BN | ST i 36 5% 10,000 Fi gfx
H IS WX 9¥ AT o & eRE 7
(ii) What quantity of CDs would maximize profit ?
What would be the price ? What would be the
profit ?
A1 1 fopa=t = § ScdreA fpar s Rrad 6
AT ATAHTH BT | 3H WX I JST T /A A1
A |
Suppose that labour is the only input used by a
perfectly competitive firm. T he firm’s production
function is as follows : ‘ 1@
T ARENT B Sad O & SMeT A (5W) H 94T
HIAT B | BH B IEATEA B A @A T B

No. of labour Units of output

0
o
13

19

25

28

29
29

=10y Ol B G0 N O
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(i)

(a) Calculatek the marginal product for each

" . additional labour.

Eicicad] ‘ ! .

(b) - Each units of output sells for % 10. Calculate
the value of marginal product of each '
workers.
=% aeg 1 5ed 10 X & ol aedieh #fHs & @i

 IeqTE @ IS T Y

(e} Compute the margmal proﬁt if the wage is

% 50 a day.

xﬁwamaﬁvwﬁtﬂaqagﬁso 3 affest
il
(d) Draw the firm’s demand curve.

% B o B AT ART G956 H AT |

(e) What happens to this demand curve if the

price of output rises from ¥ 10 to
¥ 12 per units ?
Fa 10 Qagw 123 S o 8 2
Explain how the wage can adjust to balance the
supply and demand for labour while simultaneously

_ equating the value of the marginal product of

labour. 5

mﬁﬁqﬁsu@aﬁaﬁw—mﬁmﬁ
g7 g gif & Fowag Tt &7 S © O JeEd B 9
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